
lim
n→∞

n
√

a = 1 pre a > 1 lim
n→∞

n
√

n = 1

lim
n→∞

n√n! =∞ lim
x→0

sin x
x = lim

x→0
x

sin x = 1

lim
n→∞

n!
nn = 0 lim

n→∞
nn

n! =∞

lim
n→∞

n!
nk =∞ pre k∈N lim

n→∞
nk

n! = 0 pre k∈N

lim
n→∞

(
1 + 1

n
)n = e lim

x→0
(1 + x) 1

x = e

lim
x→∞

(1 + 1
x )x = e lim

n→∞

(
1 + a

n
)n = ea

lim
x→0

(1 + ax) 1
x = ea lim

x→∞
(1 + a

x )x = ea

lim
n→∞

n
(

n
√

e− 1
)

= 1 lim
n→∞

n
(

n
√

a − 1
)

= ln a

lim
x→0

ax−1
x = ln a lim

x→0
ex −1

x = ln e = 1



lim
n→∞

(
1+ 1

1! +· · ·+ 1
n!
)

=
∞∑

n=0
1
n! = e

∞∑
n=0

(−1)n

n! = 1
e

∞∑
n=0

qn = 1
1−q pre q∈ (−1; 1)

∞∑
n=1

1
np =

{∞ pre p∈ (0; 1〉

7−→ pre p∈ (1;∞)

(cf )′ = cf ′ (f ±g)′ = f ′ ± g ′

(fg)′ = f ′g + fg ′
[ f

g
]′ = f ′g−fg ′

g2

[konšt.]′ = 0 [x ]′ = 1
∫

dx =
∫

1 dx = x + c

[xa]′ = axa−1
∫

xa dx = xa+1

a+1 + c

[ex ]′ = ex
∫

eax dx = eax

a + c

[ax ]′ = ax ln a
∫

ax dx = ax

ln a + c pre a > 0

[ln x ]′ = 1
x

∫
dx
x = ln |x |+ c



[sin x ]′ = cos x
∫

cos ax dx = sin ax
a + c

[cos x ]′ = − sin x
∫

sin ax dx = − cos ax
a + c

[sinh x ]′ = cosh x
∫

cosh ax dx = sinh ax
a + c

[cosh x ]′ = sinh x
∫

sinh ax dx = cosh ax
a + c

[tg x ]′ = 1
cos2 x

∫
dx

cos2 ax = tg ax
a + c

[cotg x ]′ = − 1
sin2 x

∫
dx

sin2 ax = − cotg ax
a + c

[tgh x ]′ = 1
cosh2 x

∫
dx

cosh2 ax = tgh ax
a + c

[cotgh x ]′ = − 1
sinh2 x

∫
dx

sinh2 ax = − cotgh ax
a + c



[arcsin x ]′ = 1√
1−x2 [arccos x ]′ = − 1√

1−x2∫
dx√

a2−x2 = arcsin x
|a| + c1 = − arccos x

|a| + c2∫
dx√

x2−a2 = ln
∣∣∣x +

√
x2 − a2

∣∣∣+ c∫
dx√

x2+a2 = ln
(
x +
√

x2 + a2
)

+ c

[arctg x ]′ = 1
1+x2 [arccotg x ]′ = − 1

1+x2∫
dx

x2+a2 = 1
a arctg x

a + c1 = −1
a arccotg x

a + c2∫
dx

x2−a2 =
∫

1
2a
[ 1

x−a −
1

x+a
]
dx = 1

2a ln
∣∣ x−a

x+a
∣∣+ c∫

f ′(x)
f (x) dx = ln |f (x)|+ c pre a > 0, a 6= 1


